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@ x?-14x+49 = (x-7)?
2 1 1)*
® - Za+g=(a=3)
@ 64a® + 32ab + 4b* = (8a + 2b)?
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® m(a+b+c) @ m(a-b-c) @m(a—b—i—c)

@ ma(1-b+c) ® m(a+b-c)
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¥ -2x-8=(x—-4)(x+2)
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13. % +4x-21, 3x% -5x - 12 9] %

O x+4 @ x+7

@ 3x-9 (@)x_g

W +4x-21=(x-3)(x+7)
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@5 @ 6 @—6 @ -4 ® -5

B ,

—3a% +12b% = -3(a® - 4b?)

= —3(a + 2b)(a - 2b)
k=-3, m=1, n=2
Skmn=-3x1x2=-6
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= (xy +4x+4) (xy + 4x - 2)
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@ (x+y)(x+y-5) @ (x+y)(x+y-10)
® (x-y)(x+y-5) @ (x-y)(x-y-5)

® (x+y)(x-y+10)

‘ (x+y)?=5(x+y) = (x+y)(x+y-5)
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® (—x—y+4)(x—y+4)
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x+4=rt2totH

(t+y)(t—y) - 16x

=12 —y2 - 16x

= (x+4)% - 16x — y?
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=(2a—b+2a+Db)(2a—b-2a-b)
= da x (—2b)
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@® ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)2+a)

@ -y +2x+2y=(x-y)(x—y+2)
@)+ 2 +x+1= (2 +1)(x+1)
@xty-1)-20-1) = (x-2)(y-1)
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2y -x) +2%(z-y) +y*(x-2)

= y22 — x2% + 222 — 2y + %2 — ¥z
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